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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet,

1-  Living closc to a lake means we have an —-——-—--—- supply of water,
1) inherent 2) abundant 3) inconsisienl 4) celectic

2-  The advertisement for the weight loss pills is very --—--—--—- sinee studics have shown
they're incffective.
1) persistent 2) interminable 3) sensitive 4) mislcading

3-  The twins hated to he apart, so they bought honscs in close ——-—-—-- to each other.
1) pertinence 2) proximity 3) acquainiance 4) scrutiny

4-  With few new jobs ercated, the ceonomy has remained -----—--- for the past tive years.
1) conscrvative 2) unfcasible 3) stagnanl 4) impassive

5-  Two days after the flood, fortunately the scawater finally began to -—--—-—-- from our
house.
1) recede 2) sceede 3) proceed 4) intereede

6- The business used only to make bicyvcles, but they’ve now ---—-—--—-- a range of other
cycling products.
1) diversified into  2) emerged from 3) reverted to 4) stemmed from

7-  The audience clearly loved the play—the ~-—-------- was deafening. So it’s not surprising
that it got glowing reviews.
1) merit 2) rivalry 3) applausc 4) benediction

8-  Experienced lditarod runners tried to --------—-- Gary Paulsen from competing in the

grueling Alaska race, but they were not successful. The writer and his team of sled dogs
nearly perished during the race.
1) elicit 2) derive 3) snatch 4) dissuade

9-  The Kalapalo Indians, who live on the savannas of central Brazil, have little ---------- to
change their leisurely lifestyle. They work just several hours a week to provide food,
their only need.
1) disinterest 2) impetus 3) impact 4) rigidity

10- - by the rude behavior of the clerk, Ms. Caine reported him to the manager. She
believes that customers deserve courtevus treatment, even when returning merchandise.

1) Withdrawn 2) Arisen 3) Restricted 4) Incensed
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), ar (4} best fifs cach
space. Then mark the answer an your answer sheet.,

While clephants are oflen one ol a #00°s lop atiractions, a new report charges that their
level of care often falls short of star treatment. In a study (11) ---------- this week. the
UK’s Royal Society for the Protection of Cruelty to Animals (RSPCA) said elephants
in European zoos are often unhealthy, (12) ---------- considerable stress, and have a
much shorter life than their counterparts in the wild. 'T'heir condition is frequently even
worse than (13} ----—----—- in Asian timber camps. alleges the RSPCA, (14) --=------- is
calling for wide-ranging changes in the way (15) -=-------- . In the meantime, the group
says, European zoos should stop importing and breeding elephants.

11- 1) rcleased 2) was released 3) it is released 4) that relcascs
12- 1) 1o endure 2) thev endure 3) by enduring 4) endure
13- 1) clephants 2) clephants do 3) that of elephanis  4) for clephants
14- 1)it 2) which 3) that 4) that it
15- 1) 7zoo elephants are treated 2) in 7oos are treated elephants

3) elephants are treated by in zoo 4) that elephants being treated in 7z00s

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the hest
choice (1), (2), (3}, or (4). Then mark the corvect choice on your answer sheet,

PASSAGE I:

Nearly all the essential mineral elements, both major and trace are believed to have
one or more catalytic functions in the cell. Some mineral elements are firmly bound to
the proteins of cnzyvmes, while others arc present in prosihetic groups in chelated form.
A chelate 15 a cyelic compound that 1s formed between an organic moelecule and a
metallic ion, the latter being held within the organic moleeule as il by a claw,
Examples of naturally occurring chelates are the chlorophylls, c¢ytochromes,
haemoglobin and vitamin 1312. Flements such as sodium, potassium and chlorine have
primarily an electrochemical or physiological tunction and are concerned with the
maintenance of acid base balance and the osmotic control of water distribution within
the body. Some ¢lements have a structural role; for example, calcium and phosphorus
are essential components of the skeleton and sulphur is necessary for the synthesis of
structural proteins, 1t is not uncommon lor an ¢lement Lo have a number of dilTerent
roles; for example, magnesium acts catalytically, electrochemically and structurally.

16- Which statement is inconsistent with the definition of chelates?
1) Organic molecules are held within the chelates by a claw.
2) They are eycelic compounds [ormed between organic molecules.
3) They are compounds which include metallic ions.
4) Melallic ions arc bound to the organic molecule by a claw
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17-  All definitions concerning the evtochromes and hacmoglobin are true EXCEPTo—mceeeeo,
1) they are firmly bound (o the proteins of enzymes.
2) they can be considered as natural eyclic compounds.
3) thev are a Kind of cyclic compound.
4) they occur as natural chelates.
18- As mentioned in the passage, which of the following lacks a role in of acid- base balance?
1) Potassium 2) Chlorine
3) Cytochromes 4y Sodium
19- Which of the following functions is the role of sulphur in the body?
1) Osmotic control of water distribution
2) Possessing a structural role
3) Synthesis of structural proteins
4) Having an clectrochemical role
2(-  Which of the following clements possesses a multi-funcetional role?
1) Magncsium 2) Sulphur
3) Phosphorus 4) Calcium
PASSAGE 2:
One of the consequences of amino acid catabolism is the production of ammonia,
which is highly toxic. Some of this may be used in amination during amino acid
synthesis in the body. In this case, amumonia reacts with allaketoglutarate to give
glutamale, which is then used for protcin synthesis. However, most ol the amumonia
produced is excreled from the body as urca in mammals and uric acid in birds.

Deamination ol amine acids occurs in all the organs ol the body but primarily in the
liver. In most other tissues the ammonia is converted to glutamine or alanine in muscle
before being transported to liver and regenerated.

This is a two-stage process requiring a supply of energy in the form of ATP. The
first stage is the formation of carbamoyl phosphate from carbon dioxide and ammonia
in the presence of carbamoyl phosphate synthetase. 'The carbamoyl phosphate then
reacts with ornithine to start a ¢vele of reactions resulting in the production of urea.
Simple proteins produce only amino acids on hyvdrolysis. They are subdivided into two
groups, librous and globular proicins, according o shape, solubility and chemical
compaosilion.

21-  All of the following statements about the uric acid are true EXCEPT that it is-——-------—- :
1) a consequence of amino acid metabolism.
2) resulted [rom of amino acid catabolism.
3) a kind ol body cxcretion.
4) a by-product ol ammonia in birds.
22-  The initial route of deamination of amino acids is -——---—-—-——- :
1) kidney 2) liver
3) all body organs 4) muscular tissue
23- Which element is vielded from conversion of ammonia in muscle tissue?
) Alanine 2) Glutamate

3) Ketoglutarate 4YATP
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24-

28-

29-

In the process of supplying energy, which clement is needed for ammonia formation?
1) Carbon dioxide 2) Adenosine tri phosphale

3) Carbamoyl phosphaic synthetase 4y Carbamovl phosphate

Which item is not considered in categorization of simple proteins?

1) Solidity 2) Solubility

3) Composition 4y 'orm

PASSAGE 3:

The pituitary glycoprotein hormones consist ol two interconnected amino acid chaing, -
and P-subunits, containing sialic acids, a lamily of 8- and 9-carbon monosaccharides, and
the carbohydrates hexose and hexosamine. The o-subunits of all three hormones arc
identical while the f-subunits confer biological specificity. The a-subunit is also identical to
that of human chorionic gonadotrophin (hC() and is considered to be the effector region
responsible for the activation of adenvlyl cyclase and the generation of eAMI? in the target
cells.

All three pitutary glveoproteins are trophic hormones, which means that they not only
regulate the secretions of their target glands but are responsible for the maintenance and
itegrity of the target tissue itself. TSH is secreted by pituitary thyvrotrophs, which contain
numcrous small scerctory granules. It controls the [unction ol the thyroid gland, and the
output of the thyreid hormones thyroxine and tri-iodothyvronine. The scerction of TSH is
stimulated by hypothalamic TRIT and is under strong negative [cedback control by
thyroxing and tri-iodothyronine.

Which substance is NOT in the amino acid content of the pituitary glyvceoprotein
hormones?

1) [lexosamine 2) llexose

3) Some monosaccharides 4) Polysaccharides

In the sentence “the «-subunits of all three hormones are identical...” in the first
paragraph, the word “identical” means --------—----- "

1) different 2) detectabhle

3) natural 4y similar

Which item is NOT among the pituitary glycoproteins mentioned in the passage?

1) Adenylvl cvclase 2) Some amino acid chains

3) Some sialic acids 4y The carbohvdrate hexose

According to the passage, which statement is true?

1} Thyrotrophs are controlled by thyroxine and tri-iocdothyronine.

2) Hypothalamic TRH can stimulate pituitary thyrotrophs.

3) Hypothalamus is under the control of pituitary secretions.

4y Pituitary gland secretes hormones for controlling the hypothalamus.

Which of the following is the best title for the passage?

1) Pituitary Thyrotrophs 2) Pituitary Hormonces

3) Gonadotrophins 4) Hvpothalamus
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